CLASS - VII

MATHEMATICS
Time: 2:30 Hrs

Note:

[. All questions are compu]sory_ Thide i interngl hvice in @ few quest

2. Answer the questions in serial order ag far as possible
d pe '

Section A

[Each question carries 1 mark]
1. Find 15% of 250.

Find the standard form of rational number -1

1

Find the area of a square park whose perimeter is 320 m.

(O8]

2 .
Convert 50 cm” in mm>.

OIS

m and n.
. Show the terms and factors by tree diagram: 5xy* + 7x’y
. Express 3125 using exponential notation
. Simplify and write in Exponential Notation (7° 0y
Find the value of x in the following diagram:
ind the circumference of a circle with radius 28mm. (Take 7
#=22/7)

Section B

[Each question carries 2 marks]

I1.Convert into percentage:
(1) 0.75 (i1) 0.09
. 5 -6
12. Find E - (EI')
13.Five 4 rational numbers equivalent to —_7—2

~

14. Construct AABC with BC=7.5 cm, AC=5 cm and m £ C = 60°

jons.

Max Marks: 80

Get the algebraic expression for: Number 5 added to three times the product of number




sheet. (Take © =22/7 )
17.Add : 3mn , -5mn , 8mn, -4mn

o «at ifthe value of
18. What should be the value of "a if

OR

2
2X" +x - a equals to 5, when x = (?

-3(z-10)

3
If z=10, find the value of: Z
15 - 6I()

19. Using laws of exponents, find 6
500000

Section C

20. Express in standard form 3180

[Each question carries 3 marks]

21. A tree is broken at a height of 5m from the ground and its top touches the ground at a
distance of 12m from the base of the tree. Find the original height of the tree.
22. The population of a city decreased from 25000 to 24500. Find the percentage decrease.

. X 1 2
23.List three rational numbers between 5 and =

24.Construct a right-angled triangle whose hypotenuse is 6 cm long and one of the legs is 4

cm long.
25. AABC is right angled at A. AD is perpendicular to BC. IfAB =5 cm, BC = 13 cm and |
AC =12 cm, Find the area of AABC. Also find the length of AD. {

4 />
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nd the percentage

; ] K
tion carries 5 mar ' ] (312 =

hen x = (99
of carbon in chalk.

t of the chalk stick?.

(i) Ifin @ stick of chalk, carpy,, is 6
# 5 m wide is constructed outside

] . what is the weigh

15 A rectangular park is 45 iy long ang 3¢ 1y wide.A path 2
_ m wide.

the park. Find the area of the path

4 : Q
1 25m
| iA 45 m B
ound at a V, | !
i -
] D a
Sl n
e legs is 4|
33. In the following figure, find the area of the shaded portions:
¢m and - oem ] = ]
T
6 cm

10 ¢cm

%}_ﬂ

@)

D % e
. 18cm —>

34,
3 Marks

35x 105x25
57 x 6°
y +11 and =y -11 subtract 3x-y-11 2 Marks

b) From the sum of 3x —
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CLASs — VI

ENGLISH
' Max.Marks-SO

Tiine:-2.30 Hrs.
ral instructions: -

The question paper consists of four
sec

: g gection (A) - Reading Skills tions;
gection (B) - Writing Skills (20 Marks)
Section (C) - Grammar (20 Marks) |
Section (D) - Literature (20 Marks)
g  Please attempt all the question in ordey. (20 Marks)
Section (A) - Reading Skills (20 Marks) !
™™

Read the given passage carefully ;
In a desert there is sand all over, There are no roads, not €Ve% track to follow. But a caravan

winds its way forward through the desert without stopping- £ string of camels laden vl ggotls 1
called a caravan. Although landrovers and small aeroplanes arc now used in some desert places but
caravans are still a common sight. The camel is the ideal animal t0 be used in a desert because it has
very wide feet that do not sink into the, sand. Camels can £0 for several days without water, using fat
stored in their humps to keep them alive. The vast desert looks like an ocean of sand and that is why
camels are often called ships of the desert.

On the basis of your reading of the passage,

Q1

complete the following statements: *

A caravan is
Desert looks
Camel can walk easily on sand because

ain alive for several days without water

Camels rem
The word TRACK means

The vast desert looks like
Although landrovers and small acroplanes are now used 7

Q.2 'Read the passage given below and answer the questions that follow: (8M)
Water is one of the most important natural resources. With the rising population, there has
ure on this earth's resource. Scarcity of water has been felt throughout the

Jlect water by building dams. Wells have also been dug to

t enough. Wise conservation of water is needed. One of

r harvesting. It means collecting rainwater on the

raise the level of

been an increasing press
country. Efforts have been made t0 €O
create ground water structure. But that 15 00

the most popular ways of conservation is rainwate
underground for later use. This method can also

roofs of buildings and storing it .

underground and increase water supply- Water from kitchens and bathrooms is collected and

cleaned. It can then be used for purposes other than drinking. . |

Read the questions ojven below and then answer the questions selecting
i=4

you consider the most appropriatc. .
1 What efforts have been made for the collection of water ?
* at e110

()  damshave peen built (ii) wells have been dug
(i)  rain water is being harvested (iv) both (i) and (ii)

from the options which




source is
" watcl‘ (i) melting of glacierg
ref ells hay
o p .on . more Wi c been dug.
2 ereasing Fo pati @iv) Jfer are
. rise in " o of W
te on :
(f')') astage Of wa " erval! waste water harvesting
i) v ¢
'(Il‘wo method$ esting water level
3. o rainwate? ] ound e supply
fing ic )
Gy imP o ing P 4 building more dam
intail

@i M

. ore Y
) digging™
(iv) £ rain wa
¢ 0
er
easy ound wat
assagC means

4 A dvanfﬂg
(i) it is
(i) it

raises the 1eV6
ord 'gath er' i1

(i) it is simple
(iv) it saves money

(i) scarcity

5. Thew
@ s (i) collect
(i) ~ store .

6.  Wateris _,_,ml resource () over the bridge
(1) mOS‘; lfnlrp;aklng fes d (IV) not at all important.
(iif) ~ Used 1OFH

7 Give the opposite pk (ii) increasing
(i)  wise

fully: S5
arefully:
Q. 16. Read the poem ¢ POETRY BY TENNYSON

Ring out, wild bells, to the wild sky.

The flying cloud, the frosty light:

The year is dying in the night;

Ring out, wild bells, and let him die.

Ring out the old, ring in the new,
Ring, happy bells, across the snow:

The year is going, let him go;

Ring out the false, ring in the true,
Ring out the grief that saps the mind,
For those that here we S€e no more;
Ring out the feud of rich and poor,

Ring in redress to all
Ring out 2 slowly dy;
And anciept forms of
Ring in the nobler mo

mankind,
ng cause,
Party strife,
des of lfe,

With sweete, Mmanners, purer laws

the option you consider the most appropriate

2.
3.
4.
5.
Q1 Yo
Sc!
Q-2 Y«
to
Q3 (a
he
C
‘ (
Q.1
: Q2




|

Ql
iQ.2

Q3

Q.1

Q.2

Q3

poet wants the Neyy -
. r .
(a) bappiness and joy to bmng Sl
(9) tru'th (b) Sweet manners a8
Feud IS__.E. (d) all the above

a deep river

d) a home with se )
( Parate livipg Qharters for servatts
10

. '‘Redress" in the poem megy,
S
(a)to get dressed again, to Ch\\.
. (b) clothing worn by an o]q ange clothes
(c) making up fi e
p 10T @ Wrong or iniusti
4) playing holi Injustice
(d) playing holiday music
5. The word which means the opposite of "modern" is_——
(&) happy (b) noble
ift
() strite (d) ancient
Section — B
. Writing Skills (20 Marks)
You are a reporter working for The Hindustan Times. Write 2 report on
School Cricket Cup held in the Shivaji Stadium of your city. M)
You found a tiffin box in the school playground. Write 2 notice to put up on the school notice board
to inform the students about the tiffin box and how the owner call retrieve it from you. (6 M)

(a) You are Shahrukh Khan a student of class 7 D. Write an application t0 the Principal requesting
cultural show organized by the famous club of your

the final match of the Inter-

her to grant you permission to participate in a

city. (7M)
OR
(b) Write a letter to your father requesting him to engage a tutor for you.
Section — C
Grammar (20 Marks)
ezM

Fill in the blanks with the correct prepositions.
L. One day, a little Jamb followed Ira the orchard to the stream.

2. She saw the little Jamb trying t0 balance itself the pebbles and stones.

lective nouns and use them to fill in the

n prackets to make col

Rearrange the letters i

blanks. GM
b A of birds is flying south. (foclk)

2 The of mountains was covered with snow. (anrge)

3. Many people from the __— rushed to help the man as he fell off his bicycle. (rcowd)
Fill in the blanks with a, 21 0T the. - 3M)
L _ teaseemsiO be of very good quality.

2. _ hourago I saw umbrellas lymg on ___wooden bench.



Q.4

Q.5

Q.6

Q.7

Q.1

Q.2

Q3

Q.4

gos. 10e000Y them ag g
p ¥ non- ;
1ese 5enfzvery da?’- Non-finite and write. (3 M) k""e
Underline the ver®” 1o her off” buttefﬂy' purl-""“'er1
1 Mother drives = g int0 g 0l 3
2. A caterpi”ar Ch ” il ﬂble' : ;
: 7l 4
;. Eatingtoge™ cfect tense of the verpg ;, the b % 4
o e P eat) rackets M 5
it ies. ;
Fill in th.e blsfnks w e che ; ven pecause she bought 5 NeW one. (gj ‘ ‘
., Nived®— gway 16° :th her friends. (go) - (give) : !
2 Mummy — e da Wl E
T shon__on ‘ 5
3. Shela __— ot dverbs from the braCkets | ;
v )
Fill in the blanks with the ? better today- (Very, much) GM l‘
e feeling —— experiment. i
1. Rajdeep s FEUE g, with your eXperment. (surely, safe]y)
2. Joseph will_— orthe ™ ovie. (already, enough) !
or
5 Weare__ 14 “
i g
Fill in the blanks using conlt® wrong turn. -
1 We were lost___W¢ took 2 .
2' It was raining;;;‘-/ily — the players continued to play.
’ :ust had a snack on t
N We are very hungry we just he way.
4 . Answ
Section — D D2 AnS
Literature (20 Marks) _
Word meaning. . @M !é
1. abhor 2. steed 3. prodigal 4, enunciates ;
Read the sentences and answer the questions.
1. “My own garden is my own garden”.
, a. 'Who said tl.lese words and why? (1M) {
. Pestonjee was fooling the farmers. Q
a. Who was Pestonjee? 1M |
b, HOW Was he f l. ) 13- An'
. ) ooling the farmers? 2M) :
' 0 helped the farmers and how? (P 2V/))
Answer these i
S€ questions briefyy .
L. Why were the peopl o (hay three) ©M)
2. Whatwas Ple of Hamelin worried?
3 € ghost’s Ieaction ¢, .
+ What would flgtteye, say if 0 the Colonel’s attitude?
. i :
4 Whatlogic gig the glovjl WS
~w R .
Aimeethet O use to persuade the nightingale not to eat him?
€ OHOWin :
Q1 Deserire n. > aboyt
escnb(e) Mr. Doy Qi (40-50) Wwords,
0
Q2 - te. (4 M)

DeSCribe H' .
18ging and Ry;
Elizg.




G My

‘4. Draw a well labelled diagram of:-

5. On the map of india given mark and la

Pro ;
MOtion Examination 205

. 2% Hours MM: 80

Time: — Social Science v
owing i 20 Marks
3 Answer the fo ginone Sentence Class — VI

1 what is the amount of sol

t are the i "en
Wha SPecies of anj ey received by the Earth ¢
What are the tropj o gEOAIS Y
b Pical rainforec.  0UNd on the earth refer’®
The ganga 'asm EXDEriencEs > 3slo known as?
what were ‘Chaurasijg’; type of climate?
Mian Tansen COmposeq Whi
What was the council of g

alled?
dtoas?

) 3Mous Raga? ;
which sikh ruler establishegq Ministers under Shivaji called?
What has media evolved for itszl(;\?h/erful kingdom in punjab?

. people engaged in which trade are Called retailers?
ed retailers

ding to th

. C\fi:graregexpecteeg1 fodte;:emncept of marketing , what is the

. 86 thei ,

. India has had a tradition of tOIefr:;Z:turz ro‘Le o: caretakers
i justi i and what?

. Besides justice, liberty, equality what does our constitution try

. Where did the people be|0ngi our

: . Ng to the khokhar tribe live? ]
. Under which ruling dynasty gig kathak become a form of entertain

. Shivaji captured many forts using which warfare?

. Plants and animals provide moisture to the atmc;sphere through what?
. What is the headstream of the Amazon river called?

. Write the word which means that one fulfils his or her resPO“Sib“ities'

OO NOW! R WD

=
= O

ss?
key to succe
from, their early days?

=
w N

to promote?

=
[SAl

ment?

I
3o

N = =
O W

2. Answer the following in short 30 Marks

1. What are the main elements of weather and climate?

Describe the location and extent of Amazon basin.

What do you know about the life of the nomadic tribal groups?

Which language is known as the ‘camp language’?why?

Who were the king makers? Why are they called so?

How does media protect the democratic interests of the peoplfe? .

Discuss any two major areas of discrimination against women in lr.\dla.' .
How does religion play an important role in the formation of public opinion:

. Distinguish between dictatorship and democracy. N
10. How ifthe modern concept of marketing different from the traditional concept?

W NOUL A WN

i 12 Marks
3. Answer the following questions in details _
1. Describe the location and extent of the Ganga-Brahmaputra basin.

OR

Describe the main feat : .
2. Who were Peshwas?How did they s

Di he d ?oR ment of Persian literature in the medieval period., ' .
3. E Iscluss th N eved pr inequality is closely linked to other forms of social inequality.
. Explain how genae

OR { : 5
How can religions help in the working of a democratic government:

s of planetary winds.
e rengthen the Maratha power?

10 Marks

2. Three states of water.
1. Process of heat transfer-

pel the following 8 Marks

5. Himalayas

1. Allahabad 6. River Ganga

2. Kolkata 7. Sundarbans

3. Lucknow 8. River Brahmaputra
4. Patna

—
SR
R

L P e ..
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. “Xamination - 2019
Time: - 21/2 Hours (0

‘ / wwl S
Fill in the blanks,

‘ Ql )
. € day
) The function finds ¢ 410 one cel] and in multiple lines

€ largeg,
The individual page in a preg,

Mation ig called g '
Every computer on the interney h s
d) as a Name called the

ter 1 .
A compu Isa SOftWa_re Program with the ability to reproduce itself.

The SUM button is available unde, the b

i 2x6=12
Give answers in one word. . ( )

) ltisa virus that infect the system of hard disks & floppy disks.-_———

b) Itisa personalised text file added at the end of the outgoing message.___

) A series of slide displayed one by one on the screen.

- ~nalanlation.



v R i VI B § |

nd Bee option?

1d limitations of a computer virus?

DINT window given below.

i Click to add title

:&M"" e ‘-‘m;”““*-w- '“ . I o i "'{.
j Click to add subtitie |
;
:
1 !
R t
: i, " - o ----"’__“..l
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CLASS - Vil

s
TIME —2: 30 Hrs, UBJECT — SCIENCE

p—

Max Marks -80

i et

-

All questions are compulsory

Note —

There are four sections.

Section A: 10 questions of 1 Mark each.
Section B: 10 questions of 2 Marks each.
Section C: 10 questions of 3 Marks each.

Section D: 4 questions of 5 Marks each.

SECTION-A

Fill in the blanks :—

A Flower may have either male or female reproductive part. Such a flower is called
The long line in the symbol for a cell represents its terminal.

The safety device based on the heating effect of electric current is called a .
The rhythmic expansion and contraction of the heart is called
Arteries and veins are joined by a network of
An images formed by a concave cannot be obtained on a screen.
The insects, butterflies and birds help flowering plants in .

The decaying leaves and animal droppings in a forest enrich the soil with
An image that cannot be obtained on a screen is called a image.

10. Herbs form the layer in the forest.

Ve NDU A WN R

SECTION-B
Short Answer.

What is water table?

What is lateral inversion?

What is meant by the term aquifer?
Explain why there is no waste in a forest.
Give any two effects of electric current.
fferences between conc

floods. ) _
ecessary inaplantorinan animal?

Gi two di ave and convex lens.
ive any

Explain how forests prevent
Why is transport of materials n

Give the full form of.

MCBs _____ —
CFls____——

10. What is fragmentation?



SECTION —-C

) of them. What do thEy do
WO US€S of it.
r heavy exercise?
a "
he forest help it to grow ang regenerate

in the forest?

posers?

decom
What are 2gne

Whatisan electrom e cra S
Why do we get muls c ewe ing in
Explain how animas eris rechargé

Give the three functions c\)N s
. | i ion of w
N e s ible for the depleti ater table? Expain anyone.

ns :
rs respo s of images formed by a plane mirror.

her house t0 reach her school on 3 bicycle .If the bicycle has a speed of 2m/min.

1
2

3

4.

i dwa

5. Explain how groun ata. o

° : st If and cross pollination.
7

8. What are the facto po!

9 hree characteristiC

Give any t
l ’ from

10. Salma takes 15 minutes e FouEe - the school.
Calculate the distancé petween
SECTION-D
I. Name these —
a—saw

Motion of a child on a sé
A mature ovary forms a .

a.

b

c. The basic unitofspeedis -
d. Organs of respiration in insects are

e. One product that we get from the forest

II. Give the name of the plants that shows the following type of reproduction —

1. Budding -
2. Eyes-

3. Fragmentation -
4

5

Spores -
Stem cutting -

I1l. Draw and Name 5 Electrica| Components and its symbols
IV. Draw a neat well lapeljeq diagrams of

o The Breathing System of 3 fish
o Dripirrigation, .



